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Answer ALL questions.
PART - A (10 x 2 = 20 Marks)

What are the advantages of pocr-to-peer systems over cliont-server systems ?

2 What 15 the purpose of system programs 7

1 Under what arrcumstances s user level threads is better than the kermel leve! thremds 7

4 What 13 the meaming of the torm basy wating ?

< Namwe two ditferences hetwoen lopcal and phywcal sddresses

O How docs the systom detect theashang ™

7 Why is rotational lateney wsually not consadered 1n dask scheduling

8 How docs DMA increase system concurmency

9 Sate the components of the Linux system

O Define the function of Caching-only serves
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PART - B(5x 16 ~ 80 Marks)

Distinguish betwoen  the  chientserver  and  poer-to-peer models  of
destnbuted systoms.
Describe three general mothods for passing parameton o the operating

system with cxample
OR

How could & system be designed to allow a choe of operaling systems
from which to boot ? Whast would the bootstrap program need 1o do 7

Descnbe  the  differences hetween  symmetne  and  asymmetnic
multiprocessing. What are three advantsges and one disadvantage of

multiprocessor systems 7

It is possible to have concurrency but not paraliclism ? Explain.

Consider @ system conmisting of four resources of the same type that are
shared by three processes, cach of which noods al most Two resouress
Show that the system s deadlock free, https://www.onlineanna,com

OR
Describe the actions taken by a keme! to context-switch  betwoen
proCesses
Provide two programming cxamples in which muluthreading docx not
provide better performance than a single-threaded solutson.

Describe @ mechanism by which one segment could belong to the address
wpace of two different provesses
L4

Why arc scpmeniation and paping somehimes combined into ong schome |

I xplain them in detail with example
OR

Under what circumstances do pape faults ocour 7 Describe the actions

taken by the oporating systam wiwn a page Fault occurs

Discuss  situations in which the lcast frequently used (LFU) page
replacement algonthm generates fewer page faults than the least recently
waed (LRUY page-replacemeont slporithm.  Also  discuss under  what

crrcumstances the oppasite holds good
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Why is i important 10 balance file-systom LO among the disks and
controdlers on & system in 8 multitasking environment 7
Discuss the advantages and disadventages of supporting links 1o files that
cross mount points,

OR

Explain why logging mectadata updaies onsures recovery of a file system
after o file-system crash.

Could a RAID level | organzation schieve better performance for read
requests than a RAID level 0 organization 7 If so, how ?

Why is live migration possible in virtual environments but much less
possible for a nafive opersting system 7

What are the primary goals of the conflict-resolution mechanism used by
the Linux kemel for losding kernel modules ?

OR

Explain the step-by-step procedure for setting up 8 Linux multifunction server.

®

®)

)

(®)

(16)

3 57247

https://www.onlineanna.com



